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Whole Number -3

1. If A and B are two whole numbers then A — B is equal to B— A. Mark True / False.
2.(A-=B)-C=A-(B-C). Mark True / False.
3. (A-0) not equal to (0 —A). Mark True / False.
4. The operation of subtraction is inverse process of multiplication. Mark True / False.
5. A+ 8 =18. What is the value of A?
6. A—12 = 8. What is the value of A?
7. Find the difference between smallest 6-digit number and the largest 4-digit number.
8. Find the sum using suitable arrangement
837 + 235 + 163
9.397x17+397x3=
10. 83265 x 169 — 83265 x 69 =
11.3845x 782 + 769 x 25 x 218 =
12.435 x 145 = 435 x (5 + 40 + 100). Mark True / False.
13. Division by zero is not defined. Mark True / False.
14. Using distributive law, find the following product.
1001 x99 =
15.632x10x 576 —-476 x 6320 =
16. Find the whole number A such that A+ A = A.
17.65472 + 1=
18.895+ 7250+ 10 =
19.545 + 545 -545 + 545 =

20.1875-625+25=
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